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’ 100kN/m%#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00 | 0.00 ~ 467 58.19 | #nllst | 0.00 ~ 0.00 | 1.62 8.18 zhnLst 1.00| 500 ~ 5.00 58.19 | #nllst | 5.00 ~ 500 | 1.62 8.18
9 100kN/m#%E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00 | 0.00 ~ 487 60.65 | 14t | 000 ~ 4.87 | 1.81 9.15 zhnLst 1.00| 500 ~ 5.20 60.65 | 14t | 500 ~ 520 | 1.81 9.15
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zhnLst 1.00 | 0.00 ~ 397 49.79 | #nlist | 0.00 ~ 397 | 2.08 10.53 zhnLst 1.00| 500 ~ 5.00 49.79 | #nllst | 5.00 ~ 500 | 2.08 10.53
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